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𝑑𝑁

𝑝𝑇𝑑𝑝𝑇
(𝑝𝑇 = 0 − 3 GeV)

fitted by blast wave function

𝑑𝑁

𝑑𝑝𝑇
, 0 − 10% B spectrum @ 5.02 TeV Pb + Pb

by bayesian method



0-10%, bayes
1.Fix n(=1.)
2.Fix&Scan beta(0.03-0.9)           

T(0.1-0.6)
3.Fit get norm and chi2

Left:
Right:

4.Fill x=beta*2./(2.+n)
y=T
z=chi2/ndf (ndf=60)



𝑑𝑁

𝑑𝑝𝑇
, 30 − 50% B spectrum@ 5.02 TeV Pb + Pb

by bayesian method



30-50%, bayes

Left:
Right:

1.Fix n(=1.)
2.Fix&Scan beta(0.03-0.9)           

T(0.1-0.6)
3.Fit get norm and chi2

4.Fill x=beta*2./(2.+n)
y=T
z=chi2/ndf (ndf=60)



𝑑𝑁

𝑑𝑝𝑇
, 0 − 10% B spectrum@ 5.02 TeV Pb + Pb

by th2 method



0-10%, th2
1.Fix n(=1.)
2.Fix&Scan beta(0.03-0.9)           

T(0.1-0.6)
3.Fit get norm and chi2

Left:
Right:

4.Fill x=beta*2./(2.+n)
y=T
z=chi2/ndf (ndf=60)



𝑑𝑁

𝑑𝑝𝑇
, 30 − 50% B spectrum@ 5.02 TeV Pb + Pb

by th2 method



30-50%, th2

Left:
Right:

1.Fix n(=1.)
2.Fix&Scan beta(0.03-0.9)           

T(0.1-0.6)
3.Fit get norm and chi2

4.Fill x=beta*2./(2.+n)
y=T
z=chi2/ndf (ndf=60)



Bayesian method Th2 method

cent 0-10 30-50 0-10 30-50

<beta> <0.232 <0.167 <0.232 <0.278

T/GeV 0.259-0.481 0.363-0.529 0.257-0.483 0.239-0.583
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